BalE AN T T E TR T =R AR

1EEF35FE

+IF
FnH
JLH
H’

(L
Bl
i
B
Nl
/NFEF]
#E
K
e []
VAR
itk
A
/INH
SHL[E]

L—F

+-1F
FnH
T
fa& H
G
bR
FE
K

K

E B

v
.

I 0

MOE MG

MR
|

75
sith
it

&
P
7]
47
7]
&

NEAZ

ECHE

=
G

1R 2R 3R SF F SF 3R 2R
6 57
. 75
(FrHFu—F) 7-5
(E#HBr Z77) 10:00] 1 10 f10:00
63 64
(BKT) o o
(BKT) 9:00 3 13
(BSTC) .0 1 g
Fr#Fa—7R) % 13 [ 1000
(MELTC) g*
(M= LTC) 9:00| 5
(%27 A RT—LR) g
(FrHPr—1F) 7-2 6 | 13
PN RN 64 64
(j/?m o 61 63 .
(FrHPu—R) 9:00] 6 14 | 10:00
5T 6] %2
(=Z#E 2 77‘) 6 o0
(ZFF 7 77) 6 17
_ 61 62
(c1ub—KAINA) p 61
(c1lub—KAINA) 1000 9 17 | 10:00
P 63 61
GBI 7 =2 ) | %0 co |

(BS.GTS)

6H6H (H) =JKEFREER

1R

AT
=
A
Hi
NP
g
(s
T

e H
i
FrH
ZH
e
(L
e3
e H

* 7 A NTU—JL K
(x J )10

(X7 A FT—JLR)
(ZF¥ 7 77)
(ZF¥ 7 77)
(ZF¥ 7 77)
(ZF¥ 7 77)
(FrHe—1NR)
(FrHfe—1NR)

(BSTC)
(BSTC)
(TuNC)
(T. C GAO)
(ZEILTC)
(AEFuIN AT
(V575 7Fv7)
(BKT)

11

12

13



2315 FEAINNT F TR T = XA

2¥HBF45FE

1R 2R SF F SF 2R 1R
5 63
W AT (XU F LX) 63 45
il HE (RUF LX) =JH
H H . (XU —X) 10:00f 6 |10:00
EE EZ (FEKER) o000 | 2 g 63
BEOB0R GFREAETC) | 1 5 &
BA RN CBrHEAETC) 8-6 5 | 10 B
B8 B (TTC) o o i
¥k =£w (TTC) 8 |9:00 4xH
. 61 e
10:00 654 (1)(()) 63 = o7
63 s i
EEE sl (T. S TRY) i
i EA O(T. S TRY) R

&
=t

o— K]
g
it
i
FKEE

o=y
i

|
oW S

v
/

6H6H (H) =JKEFREER

Jefsf BT REKNAET C)
WEl G REAET C)

%% (TTC)

Mz (TTC)

T O CGHRERRAETC)

ESC GIrHERATC)
F% (SHPC)

%1 (SHPC)

—Z (7T 4—)

W¥E HHEAETC)

10



E31/H]

SEWEF55FUE

1PN

e

SFH

LI
GRS
S s
£

1PN
ST H
KEF
FEH

— NIEfL

o

P
%
Jis

=4

(EAE)R)
CHrREL/XET C)

BYE

GEET C)
GFRT C)

CFFr—F)
CFFr—F)

1R

9:00

JEAIN ST F 2 5T R T = X AL

SF

9:00

SF

1R

ERA

9:00 ;‘1::%

26
62
1-4

64 63
64 62

6H6H (H) =FKEFRERRY;

64
62

RE
£H

9:00 ijiu%}

62
61

|

FEH

FEMLTC)
FEMLTC)
CIrHERRAT C)
CIrHERRAT C)
GFRTC)
GZRTC)
(T —X)
(RT—X)



2315 FEAINNT F TR T = XA

AEEF6 0FLE

S5

=1

ZEFiE
HH
Ji

A

B
1]
TR
1| iy

P
FHLRK

F
i
ez

PN

— NIEfL

%?g
FHeR

b

A

(PSTC)

(H REELZEE)

BYE

(/J\”)%LTC)

(&L TC)
(7Y —rEeNR)
vl o =2 k)

1R

9:00

SF

9:00

N.S

;62
60

6

67(10)
63
7-4

6H6H (H) =JKEFREER

SF 1R
H* k
6 lo:0 HT
62 N
M‘___mﬁ
AR
FHAF
8 oo RA
63 S T
76 (6) | i
)1 iy

e
sz
A
¥
T
i
A

([EET C)
(KTC)
(F=AD1VO)
ArBT C)

G A8 RAETC)
CHrA8RAETC)
(=165
([EET C)



TH&EZF35FE

A H
HH
S|
Ska)
KH
B
e
iupl
iz
&

P

EH
FFH

(E=a
W7
[CE=
FIFE
-
FXH
KT
ERT
=T
EAv
B
DY
JNET
KE HiET
¥ fHET
i
FER AT
WE BT
1O$M 358
Y U I B
lli‘ﬁfﬁ H T
&M YT
RBH wo71
ES e
B

12
TH
mm@
Y AET
14%%?5% ¥
KH i1
ISMT 0 < I
MR TR
16ME ET
HHOERET
17 CITTI o e
N /N
8 Iroo  Hk
AR HEAR
9 g e
M R
zoﬁﬂ&l YR
=il bodH
ZIME T
kot TH

=1 NEfE
| AE BT
HH BT
o W/ My EZE

LER RS

(KTC)
(FRTC)
(B 7 7 7)
(F=AD1IVO)
(22 )V B\ %)
(U —rELX)
€ EEZIN )]

(B HELRAETC)
(TTC)
(BSTC)
(M=EILTC)
(F—HAXFTC)
UhMELTC)
(BR1TC)
(F7=AD1IVO)
(F=ADIVO)
€ EEZIN )]
(ZZ15)
Gt o == k)
(F—HAXFTC)
FrEENETC)
(FrHERAETC)
Gt o == k)
(X7 A RT—LR)
GBI B 8k /\ 1)
(U —rELX)
(N F U R)
(FrHELRAETC)
(FRBTC)
(BKE L T C)
(BSTC)
(F—HZFTC)
(7)) —rELX)
(F=AD1IVO)
(F=b 2/ —=Fuv7)
(F—b+ A= Fry7)
(Z#E 7 7 7)
CHT B 85\ %)
(KON« TC)
(TTC)
(BSTC)
(BSTC)

1R 2R 3R 4R SF

62,63

61,61 1

63,61

63,64

F SF 4R 3R 2R 1R

12 57
A5
7-4

31

22

62,60

26
64,16,1-5

26

24

L
R
K

|

63,61

75,63

63
64

61,62

60,60 6
36,62,7-4

63,75

1

60,63

60
63

12
61,61

63,60

62,64

16
75,26,7-3

12

61
36
9-7

12{42|60

64

42

27

26,63,

31
76(5),60

31

14

29

A%
AN |
A
f&m
H13E
HIF

e
st
Ry
b7
ES
T
[E=S
B

>

o

JRAE T

(7 NI 4

=
FAA
AR H
B

Rl

W.0

61,61

32

32
62,57,

]
(=]

37

36,64,

1-1

33

| me
WE
N
ik
i 18
H]
 EB
£

61,61

36

T H
ST H
T H
HH

60,61

63,75

60
63

136,63,7-2

21

20
26,61,7

26,63,7-4

4

21
62,62

61
62

39

64,63

42

60,61

42

40

| #m
S
bestag
En
i

AR

Ot

rH
R
IR

76(1),6,

60,60

616H (H) AEF—2L

H+of
Eh S
Wr

ke

3 BHE
TFF
4 /D
A

o L
e
¢ MH
Rt

Bt
gt
s
TE

P

A+
Ea
T
eSS
X
REr
EHT
B
FH AL F-
NFEE
PR
HPE
g
HEY
LT
b ES
T
FE A
S
B’
T
e
R
T
IEES
N
HT
Mt

/NEEF]ORRIT
/W EE

s

7 f4H
i
g FTE

4 H

(EES

ANFEE
AR
I fC T
Jer

(M=ELTC)
(M= LTC)
(FRBTC)
(FRTC)
(FrHe—FR)
(Fr¥Pa—7R)
(KON« TC)
(KON - TC)
(TTC))
(A—=HAKTC)
(FrHe—F)
(FrHERAETC)
(7)) —rELX)
(A—=HAKTC)
(F7=ADI1IVO)
(TUNC)
(NBS. TC)
CHT B 85\ %)
At o == k)
JAeduN =2 )
(7 A RT—JLR)
(TTC)
(F7=AD1IVO)
(F=AD1IVO)
FrHEANETC)
(FrHELRAETC)
(Z#E7 7 7)
(Z#BF 27 7 7)
(KTC)

GBI B 88\ %)
(F=b 2/ —=Fuv7)
(F—L -2/ —Frv7)
(F7=AD1IVO)
(M= LTC)
(KON« TC)
(KON - TC)
(F7=AD1IVO)
(F=A2DIVO)
UhMELTC)
(BSTC)
(TTC)
(=2 & FHE)

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41



8EWHF50FLLE

o
H
JUAS
a5
A
il
S
K
JIH
g 0
#E

e

RS
e
/INER
EeSo
HE
£
8
R

ISF
ESE
EHT

fa T

e

i+

FHE

R+

H+

&
HEE T
BT

— RIELL

ISF
ESE
i+
HiE
EHT
A
HE
R+

(Z#Er7 77)
ALy =2 )
ALy =2 )
(F—HARTC)
(F7=A2DI1VO)
(EXTC)
GIrHERNAT C)
GIrHERNAT C)
GIrHERNATC)
ALy =2 )
(EE~T VTN
(EXTC)

1R 2R SF F SF 2R 1R

1 60
63

5

8 B

1 8 | 6164 BT

2 60,57/10-8 64,62 =

62,60 HE

1 12 Ll

61 60 I\

61 75 _ JF

1" TR

4 12 | 7561 M

6 64,61 62,61 )

W.0 IINER

ot

6H6H (A) WA K—A

H<H (KTC)

F44H (KTC)

Ry (ZFETZ7)
F1 FEHRLTC)
ki (KTC)

B FHEARAETC)
- Chr B 8k/\i%)
Wi (ZFESTVUTL)
BRE (EXTC)
coA (ZFB7 T7)
fiir- UMELTC)
BHE (RZART—LR)



